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PRINCIPLES OF ELECTRICA L ENGINEERING
(Electronics and Communication Engineering)

Answer any five questions
AII questions carrv equal marks

1.a) Find values of v6 and vo in the circuit shown in the figure 1 at t equal to
(i) 0-; (ii) 0+; (iii) 1.3 ms.

Figure: I
Determine i, is, and vo for all t in the circuit shown in the figure
the switch was closed for a long time.
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Figure:3
Find thg'llybrid parametprApf the nefwor&'shqwn in the flg91g4.
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b) An 8-pole, wave-connected armafure has 600 conductors and is driven at625 rev/min. If the flux per pole is 20 mWb, determine the generated e.m.f. [g+7]
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For the circuit in figure 5. obtain the transfer iunction y 
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( al/ y i ( at).l dentify the
yrj,*filterJhe circuit represenrs and derenline the "o*". i6r.*r"iuL.
Rr : 100 C) : fr2, L:2 mH.

r'r{li

ij

i ,fl,

:,'.,: ;' 
'.: r'"": r'"': :;',: :-",t FigUfe: ,5., ,". , .,,-. :.,.."""1 1""-.'.: ,.., . ....:.. ,,".,1,t,t 

t"^',,,

4'a) What is an attenuator? Classify attenuatom and list the differences between them?b) Draw the circuit diagram of tn" symmetrical T-attenuator and derive the
expression for attenuation introduced by this network? [g+7]

With the .help of a neat circuit
swinburarils.test on a dC.nldbnine
efficiencjr bfthe machin6. ":--;-------

diagram.."explain the procedure to conduct
*d *jyf: the neces$ioi.ittutions to :iifiil,"the

A 320V shunt motor takes a total current of 80A and runs at 1000 revlmin. If theiron' friction and windage losses amount to 1.5kW, the shunt field resistance is40Q and the armature resistance is 0.2C), determine the overall efficiency of themotor' 
"". ..''"' :' 'r i.,.r :...: i.... . . tsrrt
i".'.. i',.'. ,"."; j.,:' ', ., i."., :'.-.'": i".".'.: :'.'.'.. .

P.* and' explain phasor diagram or sirgi. phase t.*rrorrr.. oo"ruunr'on
leading load.
400 kVA transformer-has a primary winding resistance of 0.5 o and a secondarywinding resistance of 0.001 e. The iron loss is 2.5kw and the primary and
:t"?1daiX'.v.sltages are 5"kV" and,320 V.:.re$pecrively. If"rhe..power factqr..qf.llie
load is 0"8 5;;3.1".mine tfi ei bfhciency or ini idarsformer tii ;;r,}"ii ffi"uia:(iD;;
half Ioad.

[8+7]

Explain the construction and working principre of shaded pole motor.
write short notes on stepper motor und ac series motor? [g+7]
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